9A EARSRFEES
= 2#7(9:30~ | 0:00) £ /0

ZAF(NEE) BRI =9 : 00~

VRYI—XBF
SE KL (XEH) BMEKSL (XEB)
RE 12 (E#K) N TEE (HEF k)
RR B8 (%) LBk BEtR (L)
EE BT (Auu) A28 B (ki)
1o fEE (EW) #A 1% 5] (R&EF)
AAWL B | L) = B (FE)
AAR & (BAH) RBE K— (U 35k 3R )
RUG HE (B3) B BB (7 1R)
[ off £ (RF L B EK) 8 —&R (EREM)
| 5% (%) 8 1=% (KR)
RR HEA (Bi) #EE IR (FE)
INE R (%) BR RN | (AE+R)
fE B’ (FE) KB FE (% t)
R EZA (A% &) i Xe | (gEEg)
JI| £ & E] (k) & X ()
IF=REES (KFF) ARER B K (Bit)
SH FE (MBEHE) MRE RA (B7 &)
Am #B A (FTAB) BRI fofE €1:)
ARE #— (Bi) WH —E (Lit)
itE & (EHK) ZHE 2= (@)
b Z 10 LA 854 (BRR)
2)Il X (Bi) BH E17 (7 &)
38 Fogh (Fw)

XA+EIE




